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Section — A (Short Answer type questions)
Answer All Questions

1. List the types of HVDC links.
. State the merits of HVDC transmission over EHVAC transmission.
3. What are the assumptions are made to simplify the analysis of
Graetz circuit with overlap angle?
4. Distinguish between delay in firing angle and extinction angle of an
HVDC converter.
What are the merits of per unit quantities?
What is the need of solution of DC load flow?
Write a short note on space charge field
What are the various types of Converter faults?
Enumerate causes for harmonics in HVDC System
List the different types of AC filters?

Section B (Essay Questions)

Answer all questions, each question carries equal marks.
11. A) Compare AC and DC transmission in detail with reference to:
i) Economics 1ii) Technical performance iii) Reliability
OR
B) Explain the different types of DC links with necessary diagrams and
list out its merits and demerits.

POXAW

12. A) Give the choice of Converter configurations for 6 pulse HVDC
converter and compare them.
OR
B) Explain in detail the significance of constant extinction angle
control

13. A) Explain about different sources of reactive power to meet the
reactive power requirement of Converters.
OR
B) Obtain the mathematical models of a DC network and DC converter
including converter controller.

14. A What are the different types of faults that can occur in HVDC
systems? Discuss their nature and occurrence.
OR
B) Explain the smoothing reactors with necessary diagrams and
expressions

15. A) Compare characteristics and non-characteristic harmonics.
OR
B) What are the different types of filters used in HVDC converter
station? Explain their objectives and design aspects.
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CO1 L2 M
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